S\ /N 4 5 =
240 Fy ATV T LRETF —LNFER—ER
5 ¥ \
No Hiths TR 44 54 6 B3 447 54 64 %7 2 i
60m 60mH an MR 100m 800m 80mH e R R 100m 800m 80mH e EW R Y- 60m 60mH EALS EMER 100m 800m 80mH " EE EERE 100m 800m 80mH " EE EMERE V- ‘

19 |ima kids FE 10 12 12 14 7 6 7 7 8 5 13 3 9 10 3 4 11 12.5 8 14 5 18 8 7 1 6 2 12 10 |244.5 1
16 |VAWEY 2=7 e 1 10 11 11 4 20 7 5 5 2 14 6 11 12 2 8 1 12 11 6 11 7 15 18 7 16 233 2
20 (ERBYa=T7HEEIST HE 5 8 1 1.5 3 4 17 11 7 7 8 8 6 7 1 7 4 12 8 125.5 3
1 |KMCReEZ5T HE 4 11 6 9.5 15 3 2 13 8 16 2 4 93.5 4
8 |/IigkE kA —L ) 8 6 6 3 1 2 8 6 4 4 2 8 1 3 8 3 14 87 5
24 [¥EFIAC HE 11 8 6 1 6 2 7 14 15 5 0.5 1 2 78.5 6
14 |&&5v=2r057 BE 5 7 2 6 7 8 4 2 5 6 3 7 3 65 7
4 | AR—YRIvs HE 8 3 1 2 8 8 8 2 7 47 8
7 |HEY2=THLEITT TBE 2 8 5 5 3 1 5 6 8 3 46 9
6 |BIETAV—bI5T ) 6.5 2 12 6 4 5 4 6 45.5 10
11 |LoZidesEr5T WE 2 6 1 7 4 5 2.5 1 12 40.5 11
9 |HERY—A HE 1 2 3 3 8 11 7 4 39 12
22 |77%FvX BE 8 3 14 6 31 13
10 |FEV2=THEIFT HE 7 7 4 8 4 30 14
12 |ERC TBE 7 4 5.5 4 20.5 15
18 |#EiZHY 5T w1 3 5 6 3 17 16
3 |INF1HELIST HE 3 1 6 3.5 13.5 17
5 |EMYa=THLEIFT WE 1 5 6.5 12.5 18
2 |3UIAR—Y 5T HE 5 1 3 9 19
23 |BIEYA=THEEIST )1 5 3 8 20
13 |SEHEEHY 2 =T 257 WE 4 4 21
15 |#itr.pE £ 5T HE 2.5 2.5 22
17 [M-7h73— Ha
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